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Dokument mit 36 Aufgaben

Aufgabe Al

Leite ab und vereinfache.

ORNIORE b) () =2% SEe: )=%;2

d) f@=52 e) f=% f fi& )—M

9) [ =5 h) A =fJ_1 ) =5

D s 0w = 2 )=

Aufgabe A2

Leite ab und vereinfache.

a) fx )—§+§§ b) f(x) = Lot ) gt) =<4

d) g() = &) ()= f) fe)="2
_sin(x) .

9) g()—cos(x) h) fO) =55 i) f()—x+1

N 9w == k) fQ) =2 ) f@) =22

Aufgabe A3

Leite ab und vereinfache.

a) fG)=x" b) flx)=x"* )  f(x)=2x7

d) g(x)=5x" e) g =5 )l gx==

9) f(x)—; h)y f) =15 i) f()=at?

N o9®=5 SENIGESS ) k()=
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Losung Al
a) i) =2
b)  f'(x) = e
Q) =2l es
d)  f'x)= (3x2+1)(zcjz—_13)—22x(x3+x)
e) f(x)= 6x(x2+(1)2;2493(23x3—1)
=
9) @)= (1- 3t2)(ii::3)ft(1 3t%)
hy K()="C
) fe =
D s =R
I O
) W (z) = (2t—1,5)(1:10;it’;;)02,8(t2—1,5t)
Losung A2
a)  f(x) = e
b) f(x)= (2ax+b)(ax2—(l:;;c_)l)—;iacc)—zl)(ax2+bx+c)
Q) g = th(ct-z-i);;)(zctz—d)
d) g0 ="
e) [
f)  fo)= M
9) g0 = 2xcox£);)s-;-zcj)sin (x)
h) fe ==
x+1
) rw=i
o= —%
SE(VE-D) = =(x+1)
k) f@= f o 1
e (Va—1)——=(x+1
) Fo = Zm(x/—i_zlm(x/—)
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2

= +30)2

3x2+6x+1
(x2+1)2
2x

T (1+3x2)2

x*—4x?-1

N

26x

= (x2+4)2

12x2
T (2+x3)2
t*+at?-1
T (t2+1)2

_ar3(r?-2)
=7
_ 6(x%+15)
T (15-x2)2

2(4t%2+4t+5)

T @t+n?

3a%-8a-8
(3a—4)2

40x%+100x-75

T 32x2+80x+50

2ab
(a+bx)?

2b(ax?-c)
N (ax?2—bx+c)?

_ c(ct?+2dt+d)

(ct+d)?
3x?

- (x3-1)2

__cos (x)

- cos2(x)

__cos (x)

sin2(x)

sin (x)
x x?

2x x?sin(x)

cos (x)
1

cos? x)
=1 — tan?(x)

X
24/x(x+1)?
-

2v/x+1(x+1)
-

Vr-(VE-1)°
-t

(x—1)Vx2-1
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Losdnq A3

a)
c)
e)
g)
i)

k)
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fllx)=-
flx) =-
9'(x) =
f'(x) = 2x4
f'(t) = —2at™3
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f') = —4x73
g'(x) = —2x7°

g'(x) = —E

f x) = —ﬁ

g'@®) =

k' (s) = g
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